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n HE: Kg
Al 48 5H 68
X5 AR B il = |t B = il = |3 B = o = |t

I§ {1 HWERE 2,022,896 100.0 HWEkE 1,305,918 100.0 HWERE 1,104,001( 100.0
1 fu HhoH 721,300 35.6 | ™DOH 753,114 576 hoH 327,895] 29.7
2 fi =L 379,623| 18.8 | thDFECAH%E 138,779| 10.6 | U 228,494 20.7
3 i A 281,697 13.9 | 5UY 105,718 8.1 | =& 87,308 7.9
4 i D ECH%E 136,090 6.7 | =& 62,920 48| Lo 63,000 5.7
5 {i LLyis 76,262 38| E5 53,440 41| thHLEE 56,876 5.2
6 i [ZX 61,645 30 FEHL 53,160 41| thDESCHHE 47,808 43
7 i FHL 38,468 1.9 DHLEE 40,282 31| hAIED 34,829 3.2
8 fi E<A} 36,127 1.8 | MAIES 33,911 26| EFHL 33,944 3.1
9 i EL 29,645 15| LU 32,444 25| [ZX 31,034 2.8
104 MlED 28,211 14| HIES 30,042 23| &X 21,212 1.9

Z D1t 233,828 11.6 | =Dt 2,108 0.2 | Dt 171,601 15.5

ARl 1H 8H 9H
X5 AR B il 2 L3 B = i 2 [t B = g = |HE

g {1 HWERE 1,174,506( 100.0 HWERE 646,546] 100.0 HWERE 1,014,828 100.0
1 i =X 299,726| 255 | M DOH 196,394| 30.3| M DOH 459,664| 45.3
2 i hoH 226,860 19.3 | Zl&7= 71,598 11.1| &2 79,601 7.8
3 i x5 94 525 8.0| &Y 43,266 6.7 Y 56,588 5.6
4 fi AY 84,413 7.2 | 1FFES 40,823 6.3 | HDFESAHEE 53,880 5.3
5 {i ELvbL 66,966 5.7 | D KEEIYIE 38,506 6.0| ITFL 38,664 3.8
6 i e 62,014 53| hAIED 34,941 54| FHL 33,279 3.3
7 i hDFESHEE 36,790 31| E£HL 28,104 43| Ly 31,547 3.1
8 {i HhnHLEE 33,506 29 | tDESCAHEE 26,965 42| MAIED 31,415 3.1
9 {i FHL 33,292 2.8 | £y 26,853 42| =X 26,015 2.6
104 DK EE BN EE 32,717 28| &IE 16,926 26| =658 24 824 2.4

Z D1t 203,697 17.4| =D 122,170 18.9| =Dt 179,351 17.7




( £ &) THSEE AMNERBMEIERNZXNO0 HE: Ke

=
ARl 108 11 12

X5 ah =] H B |HE AR =] % B |Hx R =] H B |Hx
I fL HEKkE 997,859 100.0 IR E 655,141 100.0 IRk E 670,984 100.0

1 fi JANSY 286,291 28.7|»2& 181,326 27.7| tDFESAHEE 60,560 9.0

2 i =(d1= 164,571| 16.5 [ FHL 48,750 74| &IE 53,923 8.0

3 {iu [FFEL 86,816 8.7 | DK EEN AR 42,079 6.4 5Y 47,850 7.1

4 fiI thDFESCHEE 54,534 55 | HDESHEE 38,557 59 | MAIEE 47,070 1.0

5 i FHL 53,096 5.3 | =X 33,407 51| FHL 46,237 6.9

6 i EISA 40,484 41| IFFEL 31,745 48| M O&H 42,108 6.3

7 fu fth DK E SN EE 38,803 3.9 | E&rf= 30,548| 4.7 1FFL 41,788 6.2

8 {iu MNAIES 31,114 31| hAalEs 30,041 4.6 | tDIKEENER 35,733 53

9 i S 29,328 29| &Y 24,104 3.7 FW 34,320 5.1
101z LU 26,852 2.7 | F=0 22,753 35| =~ 31,287 4.7

Z D1t 185,970| 18.6 [ Dt 171,831 26.2 | £Dfs 230,108| 344

A Al 1A 28 38

X5 ah H B B |HE R B H B |HXE R B B B |HXE
I £ HEKkE 603,062( 100.0 IRk E 1,041,971] 100.0 IRk E 1,907,524] 100.0

1 fi X5 101,682| 16.9 | M2& 519,823 49.9| M2& 816,984| 4238

2 i =& 90,175| 15.0| &Y 84,150 8.1 &Y 454,873 23.8

3 fu A 79,429 132 | DFESHEE 74,010 7.1 | tDFESHEE 132,977 7.0

4 fiI FHL 37,342 6.2 | FHL 40,674 39| FHL 72,638 3.8

5 i =~ 35,187 5.8 | D IKEEN LR 40,042 38| 1F5 48,442 2.5

6 i thDESHEE 25,582 4.2 | WATEH 38,685 3.7 =X 40,022 2.1

7 i MAIEE 23,820 3.9 | Ff= 22,366 2.1 HIEFS5 32,429 1.7

8 fi EI= 21,742 3.6 | MAIEE 22,084 2.1 | BALGH 28,413 1.5

9 i thDKEEEE 20,472 3.4 £ 21,508 2.1] IFFH6 26,543 1.4
101z JANSY 19,575 3.2|35HLvbL 20,979 2.0 | halEs 25,234 1.3

Z D1t 148,056| 24.6 [ TDfth 157,650| 15.2 | €D 228,969 12.1




& E) = AR B E IR N ZR10 HE: Ke
A3
% H 2 |HE & B 2 |tbE & B 2 |HE
IE_fir BIRE 25,100 100.0 BERE 25,450 100.0 BIRE 27,074| 100.0
1 {u =(F 8,489| 33.8 | thDAFEKEY 9,550| 37.4 [ b EKEY 10,296 37.9
2 fi DA HKEY 7,723| 308 [ =l 7,980| 314 [T 7927 293
3 fu AU 3,256| 13.0| AUV 2,802] 11.0[ AV 3,240 12.0
4 nhly 2,420 9.6 | MLy 2,185 8.6 [ MLy 2,130 7.9
5 fiI i\ 1,529 6.1 | K& 1,302 51| K& 1,407 5.2
6 fi ®L 7717 31| HL 853 34| HL 1,038 3.8
7 I Lyh 729 2.9 Ly 600 2.4 ] Lydp 909 3.4
8 fiI paN b 131 05|3Y5 153] 0.6 [ MIS 98] 04
9 fu LS 46 0.2 | AN 19 01| 9Y& 29 0.1
1041 M 10/ 0.0
A3
% H 2 |bE & B 2 |tE & B 2 |tE
o HEKkE 24,824 100.0 R E 28,478 100.0 R E 27,705 100.0
i1 DR IKEY 8,394| 33.7 | tDAFEKEN 10,190 35.8 | DA HKEY 10,372 374
2 fi =iv 7,631 30.7[=l 8,709 30.6 | =I7 8,229 29.7
3 fu AU 3691| 149 AV 4,028| 141 AV 3,699 134
4 nhly 1,925 7.8 [ MLy 2,345 8.2 [ MLy 2,100 7.6
5 fiI R 1,425 57| K 1,637 57| & 1,465 5.3
6 fi ®L 1,007 4.1 | HL 786 2.8 | Lyp 987 3.6
7 I Lyh 684 28|L\AH 669 23| HL 807 2.9
8 fi UG 43 0.2 | WIS 47 02| 3Y5 35 0.1
9 fu I 25| 0.1 | f&m 36 0.1 MIC 13 0.0
1041 LS 32 0.2




Q) THSEE AMNERBMEIERNZXNO0 HE: Ke

=
ARl 108 11 12

X5 ah =] H B |HE AR =] % B |Hx R =] H B |Hx

I fL HREkE 25,318] 100.0 IR E 25,175] 100.0 IRk E 45,528| 100.0

1 fi fth DA EKEY 10,309| 40.7 [ #th DA EKEY 8,586| 34.0 [ fthd A EKEY 17,229| 37.8

2 i =t 6,860 27.1|&IF 6,097 24.2( &l 10,926| 240

3 {iu AU 2,695| 10.6 | AV 3117 124 AV 7,163| 15.7

4 fiI mhiy 2,125 8.4 &L 2,556 10.2 [ A< 3,618 7.9

5 i RE 1,540 6.1 | MLy 1,865 7.4 | MMy 2,170 4.8

6 i HL 887 35| K& 1,775 71| KA 2,132 4.7

7 i Lyh 595 2.4 [ Lvdh 598 24| L\ 1,043 2.3

8 fi paN b 170 0.7 | M= 398 16| HL 753 1.7

9 i TG 138 05(3Y5H 161 06| 3YVE 240 0.5

101z £ 18 0.1 [ &R 236 0.5

ZD1th 4 0.0 | ZDfth 18 0.1

A Al 1A 28 38

X5 ah H B B |HE R B H B |HXE R B B B |HXE

I £ HREkE 22,436 100.0 HREkE 25,998 100.0 HREkE 27,116{ 100.0

1 fi D7 EKEY 9,448 42.1 | DA HEKEY 10,861| 41.8| D ARKEY 11,939| 440

2 i =i 5,208 23.2|&IF 6,892 265 &l 6,728| 2438

3 fi AU 2,089 9.3| AUV 2,558 98| AU 2,711] 100

4 fiI mhiy 2,025 9.0 | MLy 2,200 8.5 | MLy 2,170 8.0

5 i RE 1,820 8.1 | K& 1,847 71| KA 2,010 1.4

6 i HL 728 32 &L 705 27| HL 853 3.1

7 fu AN 516 2.3 Lvdh 654 25| L\ 609 2.2

8 fi Ly 466 21|3Y5 253 1.0]| M 52 0.2

9 fu TYUH 113 0.5 [ A< 28 01| 3YV5H 45 0.3
101z SAE 24 0.2
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n HE: Kg
Al 48 5H 68
X5 AR B il = |t B = il = |3 B = o = |t

I§ {1 Rk E 31,7291 100.0 HWEkE 33,351 100.0 HWERE 34,1221 100.0
1 i DI T KEY 14,830 46.7 | DT KEY 16,014| 48.0| D IMIKEY 16,410| 48.0
2 i BSIEE 2,529 8.0 | BE5E 2,844 85| DIETAEE 2,930 8.6
3 i hDIET &EE 2,348 74| &1T 2,351 7.0 | BESHE 2,845 8.3
4 fi b 2,176 6.9 | thDIETF SA3E 2,154 6.5 | IEIT 2,124 6.2
5 {i wBEE 2,135 6.7 | ESIE 2,102 6.3| &1L 2,101 6.2
6 fiI DG AL 1,459 46 | thDIEE MEE 1,715 51| &1=5C 1,661 49
7 fiI BRATF & 1,344 4.2 | LR F & 1,468 4.4 | BR{FF & 1,476 4.3
8 i HFLHL 1,326 42 | &=-5C 1,306 39| niEEAEE 1,461 43
9 i B-5C 1,208 38| fLFL L 1,205 36| AFLyvbL 977 2.9
104 5 439 14| 6<H 675 20| B5<b 403 1.2

Z D1t 1,935 6.1 | TNt 1,517 47| ZDith 1,734 5.1

ARl 1H 8H 9H
X5 AR B il 2 L3 B = i 2 [t B = g = |HE

g {1 HREIRE 37,737] 100.0 HWERE 30,649] 100.0 HWERE 32,037] 100.0
1 i DI KEY 15,142 40.1 | thDITKEY 15,203 49.6 | LD INITKEY 14997 46.7
2 i S E 7424 19.7 | Be5iE 2,615 8.5 | BILE 3,084 9.6
3 i DIET &EE 2,106 5.6 | tDIETFHEE 2,065 6.7| &2 1,766 5.5
4 fi BEEE 1,942 51 | BT 1,965 6.4 | BT 1,710 5.3
5 fi BT 1,693 45| BEE 1,752 57| thDIET&EE 1,653 5.2
6 i g5 1,442 38 | tDIEEMEE 1,465 48| XX 1,605 5.0
7 fi DB M8 1,312 35|82 1,389 45| DB MEE 1,397 4.4
8 {i ZHFLvbL 1,228 33| fLFLvbL 1,035 34| FLVHL 1,247 3.9
9 {i HFLHL 1,159 31 | BR{FF & 958 31| ESAFE 1,148 3.6
101z BRAF & 999 2.6 | B 431 1.4 | BR{TF & 1,042 3.3

Z D1t 3,290 8.7 | FDit 1,771 5.9 | ZDih 2,388 1.5




( M I SHSEE  ARBREREIELANZMO %8 Ke

ARl 108 11 12
X5 % B |# mlh®| & B (@ ElwE| & H |& = [k=
I fL HREkE 30,699 100.0 HREkE 30,682 100.0 HRERE 44,2731 100.0
1 fi b AN TIK E ) 15,694| 51.1 [ DI TKEY 17,136| 55.8 | DI TIKEY 24,530 554
2 fi BEOLE 2,044 6.7 | 1&f-5C 2,017 6.6 [ BST 2,386 54
3 {iu thDIET & E 1,845 6.0 | BE5HE 1,832 6.0 | BESHE 2,343 53
4 i rlb 1,838 6.0 [ thDIE T REE 1,551 51| &f-6C 2,163 4.9
5 i Br-nC 1,711 5.6 | I\SIT 1,506 49 | DT REE 1,917 4.3
6 fi wag 1,667 54 |ExIE 1,344 44 | EFLvbL 1,865 4.2
7 i AFLVHL 1,336 4.4 AFLvHL 1,319 4.3 | 1BEIE 1,512 3.4
8 fiI DB REE 1,200 3.9 | DG AEE 1,295 42| DB MEE 1,244 2.8
9 fu A& 870 2.8 | BRAH T & 688 22| AT D 1,213 2.7
1043z BEAFE 458 1.5 | B<bH 450 1.5 fFLvbHL 1,147 2.6
Z D1t 2,036 6.6 | T D1t 1,544 5.0 [ ZDith 3,953 9.0

A Al 1A 28 3A
X5 an H B B |HE an B H B |HXE an B B B |HXE
I £ HREkE 27,909{ 100.0 HREkE 32,169 100.0 IRk E 36,316] 100.0
1 fi DI T IKEY 16,511 59.2 [ D INTKEY 17,225| 53.5 | DM TIKEY 19,151 /2.7
2 fu fth D& T 8 1,808| 6.5 | tDIEFMmE 2,327 72| thDiETFRE 3489| 9.6
3 fu B-n 1,734 6.2 | &=-5C 2,026 6.3 | EET 2,903 8.0
4 i\t 1,342 4.8 [BET 1,810 5.6 | BEOBE 2,549 1.0
5 i b 1,254 45 | BSLGE 1,714 5.3 | =T 1,755 4.8
6 fi BOLE 1,191 43 | tDIEB AL 1,491 46| BxIE 1,639 4.5
7 I fth DG 58 1,063 38 [&EIL 1,482 4.6 | DGR &EE 1,111 3.1
8 fi FLFLvHL 905 3.2 AFLVHL 1,339 42| AFLVHL 1,032 2.8
9 fu TR At T i 646 2.3 [ BT T 13| 2.2 | KkfFF 602 1.7
101z H<H 415 1.5 | B<bH 388 1.2 B<H 398 1.1
TNt 1,040 3.7 | DAt 1,654 5.3 | Dt 1,687 4.7




